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Note : Attempt all questions.

fador : (1) 9 Ui 1 aES ¥E ¢ 3 dF @ i—avs (),

Qe (9) Td @UE (9) | v (31) H agfamedia ¥ed, @8

(%) A 3faa gay Sifew wd @ve (F) A faa s &t qfd

QY Heifrd ¥ 1 JAF @IS H 5 A § a9 TdF TH W 1

37 aTifed R |
Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has S questions.
Each question carries 1 mark.

-1 (@Ue-3N) TEt faswey g fafau [1x5=5]
(Part-A) Choose and write the correct option :

() Trefafad 3 @ $H-91 arE 9 fAfifa § 2

(37) = (%) Mt

(®) = () wHhH

Out of the following which resource is man made?
(a) Air (b) Water

(c) Forest (d) House

S-3A P.T.O.



[2]
(i) ¥=a wie qfta fawan @
(37) dug H
(%) fasm awd
(9) faym ufteg
() = q F Tl
Central budget is passed :

(a) in Parliament

(b) in Assembly
(¢) in Legislative Assembly
(d) None of these
(iii) TEFR IR FAHE :
(3) &% |9
() e
(@) g
(3) &=
The name of the Sansad of Russia is :
(a) Lok Sabha
(b) Diet
(¢) Duma

(d) Congress
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(iv) e mifor wafua 4

(v)

(31) fag 7

(&) penfan 3

(7) zvzrfom 7

(%) a3

Colonel Nasir was related to
(a) Egypt (Misr)

(h) Yugoslavia

(¢) Indonesia

(d) India

(37) 9 o[ &
(@) 3 YoM Tl =ied
(%) & i 71 5

(%) 9 9T9% AR Tl @e 9

Those whose purchasing power is less :

(a) do not take food
(h) do not purchase food

(c) become malnutrition

(d) cannot purchase nutritious food

S-3A
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(@vs-a) 3fed gy ey : [1x5=5]
(&) (@)

() oz ygmm - () gEm e e

(if) ekt X A dieren - (&) §2005

(i) SR 1 S - (9) A @R

(iv) THH.E. - (%) HIgL HI1& T

(v) I H AR afufEm - () WA A

(Part-B) Match the following :

(A) (B)
()  Soil pollution - (a) Minimum support price
(i) Sales tax scam - (b) Year 2005

(¢) Chemical fertilizer

(i1i) Industrialisation of Germany

(iv) F.C.I. - (d) End of labour organisation
(v) Right to Information Act - (e) Stealing of tax
(@ue-q) fam wrl it 9fd e [1x5=5]

(Part-C) Fill in the blanks :

() vRad — yft =1 foear gevE T )
InIndia ___ land expansion is not possible.

(i) UG W BEA —— F A 6 ®9H T H TS0
Coal is used as a mean of ___ on earth.

(iif) T fafén 99 &1 3y —— & 1] gam|

The starting of colour printing press was done after

S-3A
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(iv) ey faers ——— GfehT % HEICeE o |
Lokmanya Tilak was the editor of  magazine.
(V) —— % HRO gER @HYA H Teda de il € TR

Ductothe  poisoning has been added to our food.

() U HEH 2 A 6 T AaeSTId TH T T TH W
2 3 oTeifed ¥ 1 (IW F Afrhad TL-HH 30 V=L ®)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

uy-2  faem @ e wHE ¥ 2 [2]
What do you mean by development?

U-3 A o Y e € 2 [2]
What is called crop circle?

UP-4  WEHR H fHY FHR & F J Ak T it wiia 2t € 2 2]
By which type of tax the government get more income?

qya-5  SUMAvER #1| ? 2]
What is colonialism?

U¥A-6  WRA H hidell SIS & Fa1gy (H1E Q1) | [1+1=2]
Write coal-producing region in India (any two).

S-3A P.T.O.
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: (9) WY HHE 7 Q 10 T AT TH1 T | IdF FH W

3 37 amafed §1 (I i Afeehad Ws-HH 50 Wsg ®)

Instruction :  (C) Question Nos. 7 to 10 are very short answer type questions.

aei-10

Each question carries 3 marks. (Maximum word limit of

answer is 50 words)

SToH H wifa & fore fyreteton sreem @ gy gen ? fafaa) (3]

Why was the Disarmament Movement for Peace started in Japan? Write.

Mt @ wifagd 99 =t eEt wyl &1 fagaam | gvE g8

(% @) ? [1+1+1=3]
What was the effect of the competition between the US and the Soviet

Union on Vietnam (any three)?

ATST SMUIRE W29 737 & i R JWe fafaw | [1+1+1=3]
Write three positive effects of language-based state formation.

Fvdao q B SARH B HH-HHA T A F A HAT TSl

?? (3]

What are the challenges that small producers face from

globalization?

S-3A
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: (3) YA FHHE 11§ 14 TF ST I € | 99 W91 1 s7afeF
faweq 21 T8F T W 4 3% AEfed ¥ 1 (IW F Afusan
YeZ-HH 75 e §)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.

g -1

U9i-12

Each question has internal option. Each question carries

4 marks. (Maximum word limit of answer is 75 words)
Teae 3R affd wgare § s & W fo@am &2 fafag
(ST &) | [1+1+1+1=4]

What differences do you see between nationalism and extreme

nationalism? Write (any four).
3ar/OR
feeer ik qEiferHt armTe § @n-a gaEand o ? fafae (F1E wr) |

What were the similarities between the dictators Mussolini and

Hitler? Write (any four).

fr=ifera 99 91 § wRd TE BUETE % qfa ITEM (2011) Y fan
T 1 TH 91 F1 AT Fl AR A Y F IWE [1+1+1+1=4]

(37) 9RA &1 g § Brae T § fHa yfa #1 fawa sifues @ 2
(@) a8 v #1 yfa F1 yfawd swa F1 qor § FamEe 9 w6 8 2

S-3A

P.T.O.



Non-agncultural

Waste land

land

(9)
(@)

[81

maﬁmﬁmﬁmmaﬁsﬁnmmmg?
F A A srem stem yfF F Ffawd SHETg 9 YRd H FHA 8 2

The following Pie charts are showing the use land of India and of

Chha

quest

Barren |

(a)

(b)

()

(d)

ttisgarh (2011). Sccing thesc charts answer the following

ons :

Grassland 5
and

46%"% Agricultural land

Agnicultural land A
Garden land

Land Use : India Land Use : Chhattisgarh

For which type of land the percentage of land is more in
Chhattisgarh state than India?
For which type of land the percentage of land is less in
Chhattisgarh state than India?
For which type of land the percentage of land is double in
Chhattisgarh state than India?
Which two different type of land have equal percentage in
Chhattisgarh state and India?

3¥gar/OR

fifara difere § F9 M fou mu § | 37 g fuedt =1 3w fm yan
fapan T & 2 30 319 IR-Yfent | afereht areRt o

®. 9. afaq izt &1 Iaam
1 |F=R -
2 [EXSIC] -
3 | gfdwr -
4  |mia = wfeen N

Forest land
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Uvi-14

et

[9]
Some names are given in the table. How do they use so0il? Fill in

your answer book in table form :

SI. No. Persons Use of soil
1 Potters
2 Farmers
3 Artisans of Sculpture
4 Women of Village

SATUA & Aiehe TR fou ¥ 9 ¥ 2 OHeR (P W) | [1+1+1+1=4]
Explain how census data is useful for us (any four).
3794r/OR
EE faepie THe & foe o §, FR 2 G9ERY (H13 GR) |
Explain how population explosion is deadly for society (any four).
TEr &1 |9y Fa g 2 39 iy F ygE v sA-HE @ off 2 s [143=4)
When was the Treaty of Versailles took place? What were the main
terms of this treaty? Explain.
31941/ OR

vem fava g5 & &I 9R FR fafaw) [1+1+1+1=4]

Write any four reasons of First World War.

: () 9 HAH 15 TE 16 SH30A U ¢ | TIF 999 § i
fased & | Y& W W 5 3F H@fed ¢ | (I F1 3iferman
Y-GHT 7100 V1T ®)

Instruction : (E) Question Nos. 15 and 16 are long answer type questions.

Each question has internal option. Each question carries

S marks. (Maximum word limit of answer 1s /00 words)

Y9A-15  qZ1 & WHH Ud syfAe wmeEy g feomit fafau [2V2+2%: 5]
Write a note on the ancient and modern structure of currency.
S-3A P.T.O.
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Fder

[10]
34t/ OR

U Giaun us R TR 3T FeH W W Tl ¥, Iel qEdt oI e
% I § 1 3 ], FY 2 IS0 § gHgEy [5]

Facility of loan on one hand increases our income and on the other

hand we are caught in the net of loan, how? Explain with example.

wTHo SfyEry SR T sifuerg ) qor BT (R i) | [1+]1+1+]1+1=5]

Write the differences between rural settlement and urban

settlement (any five).

37941/ OR

TR ferd] w5t Seafd F g HO 9 SR fAfan (S gr=) |

Write the factors influencing the origin of urban settlements (any five).

: (%) U HHH 17 T 18 IHITNT T € | I I § A=
foehed € | T U W 6 3 meifed § 1 (IW Hi Afuswdn
R-GHH 150 9= ¥)

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.

wW-17

Each question has internal option. Each question carries

6 marks. (Maximum word limit of answer is /50 words)
YRA % WY ! AfFadi 9 HEf H! AT Rt | [1+1+1+1+1+1=6]
Explain the powers and functions of President of India.

37q1/OR

fratem (FA@) 9EM & B: wEl @ fa@et e s

Write six functions of the Election Commission and explain.

S-3A
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[11]

el ffa-fad FROT @ AdeH A H um T8 @ 2 we #ifew
(FE &) | [1+1+1 4141 +1=6]
Explain for what reasons voters do not participate in the voting

process (any six).

37941/ OR
" Arepdd B WIS TR 1 AR IEA € 1 TS & e &l fhEl B
fogatl ¥ v wifsg |
“The right to form an organization is essential in a democracy.”

Explain the importances of organization in six points.

S-3A
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